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Level Up Your Korean: New Transcription Format
To enhance your Korean language learning experience, we've decided to provide more

authentic/original Korean transcripts starting from Lecture 18 (Unit 3) onwards. While
English romanization will still be included for reference, we encourage you to prioritize
reading and understanding the Korean script directly.

Here's a tip: Start slowly and gradually increase your reading speed. If you find it
challenging, we recommend reviewing your Hangeul lessons.

Remember, learning a new language takes time and effort. You can do it! Keep practicing

and stay motivated. o2& & 4 lo|Q! mto[&l!

aj2{&(yeorebun), |2, {Annyeonghaseyo.} AFoHA|L. (FFotA|L.} U, 2] Gl Z17ofA| AR,
13 g, Foll(yeope) A, Y& (oenjjok) Holl ¥F Foll YArHL. g g, o17] NPTEL - S0A| &= QALSHL.
AJ2F QhgsiA|Q, Qhg Qhd. Y] ofF £ol8. Oneureun myeot gwa gongbuhaeyo, yeoreobun? 252 ¥ 1}
35522 Which chapter? Which unit? 5 2} 5 2} 5 1}, Chapter five, unit five okay? Say it together. 5 2} 5 1}
ZRo1R 5512345, 53 3582, 5349 S0 Hojar Teja o B Unit s

gwae jemogi mwoyeyo? Malhaeboseyo. FE0|| JFE TIylolg. v il

290 178 oI, Vory good. 280) 178 Wl W o5 JHO| G5 Aifo]
o5t7] 1, Wob7] 1 ¥ st E¥at EY HiQ)R. Grammar and Sp@&kiﬂgl

expression, munbeopgwa pyohyeon, FH1} 3 HigJQ. Y| A HAj,

first, Wo}7| Wo}7] 1, B3}7] 1. You already know this one, right? Grammar &
I
Now it's your turn. OK o2}& x}#|f| 2, of2| & z}lef|l Q. 5}7] 1,1 ¥, Let’s see Il beon. 1 ¥ 1 ¥1. T am Pranam.

You are Aisha okay? I will say first, first line. OK 5 ¥ 9 20]| A|7lo] QJojR? 9 o] {F& gUoloQ?}
2a%olla. (%] Te7} glolg. of, mjeksha. 3aols ofo] glola. 78k 2o] FBHE #a.} OK
17812 20 F5fg M. of, vigkle. 3Rl 40| glojr. 75T o] F8HE M. 4. Previous
appointment, prior engagement okay? Something like that. yaksok yaksok, but promise is also yaksok okay?
Ok Ok& Zo}Q OF& OF&o] 9lojQ ko] Qlo]Q . This was number one, number two number two, number
two okay. We are reviewing, okay? Number two as well. I am Pranav. You are Aisha. 6 2 20 €o]| A|7t0]

o127 {20 o] 2 adolo|2?} YaUolol2. Yol e} lofe. (of, niehshe, Yol ool Sloja.



\‘3‘.:‘::') U3t7| (Speaking) 1 Z3sta o] 27K} aaliQ, @ 20|, Woryoireneun
.*’ -\

@ mawg | 6% 2020]] A7Ho] Qo] Q7 yakssogi isseoyo. 75t ZFo] 2452 When you read,

00| A} ")oolo] B2 golojoj|@? - you know yuwol, right? You should say yuwol. Not yuk,
Zetg

Qolojo| 2. @0l ajE]7} okay? OK. June June okay. 6 2 6 ¥ 6 &, 94 o] ¥oll, 6 ¥
RelL. 20 2of| A|7t0] 9JoI 8. OK very good. FgiolQ. 38 31 31,
How can you read it? This one? A A¥¥ AL, A M, 2 L,
‘} w2 11 ¥ 17 Lof A|7Ho] Qlo] 2. OK. You are Pranav. I am Aisha.
%v;:) Leot]'s go Az {llj—al..} 17 2o ’\:J°| ol (1)7 Uo] 2&
® mag mg 17900 AiZke] gloja? f:?]oﬂ&? {]E%_EO]::“R' = on e fM? o
0O [ 1799] 5.4 2ol 7 IRF2. £ 2ol o34l Slol, oo glol 2. 317513 o]

nap

EAT] 712, Doseogwaneseo gongbuhaeyo. Mianhaeyo.
o]7d 3#iojqlojg, 3. | J2{H 48 4 7}2 4. How can
you read it? The date here? ¥ or A|¥? (A2} AE AE
Al okay A2 AlY, this one thirteen A-4F ¥, okay. 10 €

= oloj| AJ7}o] 9Jol @2 : :
'2 57| (Speaking) 1 13 Loj) A|]7t0] 9o]82 OK. You are Pranav. I'm Aisha. Let's

go. AR, 108 {13 ...} ThA ThA] A2, {10 °E 13 Lol ARTO]

oolg.

@ Zetd | 109 13900 ARkl glofar \ ‘
OO | 13%0] 2.2 @ Yolo]@? 9122} o] 13%o] B4 gUoje? (stadolle. sade

et

I}E|7} glof L.} of, motsli 2. 3t e Yofl= oF4o] gloj .. A3t
Zo] 0|8 7ta. Zo] n|gAdd] 718, njgAd] 7t.. OK o,
u). of, 4. o}, . | o]-gAlo]| 7}t}-n]84o]l 7kQ. Han beon deo,
. miyongsire gada-miyongsire gayo, 2 30| 2 okay.

9o} 2.
of, ojersi 8. shadlofl: odo]

> >l W) 6:"(‘!3/"45150"&

Y o] 123 | HEE of=2{& t}A] 3l EAIL. 11 beon junbidwaesseoyo? 1H 1 H FH|5Hoj@2 Y] J=2{H 1 H 1 ¥,
of 27kt 27kt 7ML just a sec. I forgot something again, okay. Ijeobeoryeosseoyo, kkamppakaesseoyo
7hglo|Q ). of @5 A7t o2 B, ME 7HAgtol’, AE. These are okay, A& A&, birthday gifts. Last time I
forgot, right? A[¢tio]] QlojH{Zlol e Zwglojg clojFoje. T2 & AE 7HAgtol]. 92| 10 Hofl AU

At 2390122 10 Fofl LRI Al F7H0] 22 Y|, LoJLIA| Q. Treonaseyo. Stand up please. Se myeong. £2]
Al mgolgtel 8. 3 71 3 7K 7H-gel 8. oJAE oJAE a bookmark bookmark, HZT| AT, This one is like, you

know, crown crown, traditional crown shape, okay? These are all the
bookmarks. These are all made in Korea, made in Korea, okay. And

b e i e L
IRINERESOEES

this one? This one is a miniature cake, okay? You know this one, right?
This is very popular in Korea, but I could buy this one here in India. 4 1&.‘1321&#1
NSE

QI oflA QILojlA] 4to]Q. Indoeseo sasseoyo. O] 2F o] 2 3mo], 10 e

2192, sip rupees. Ten rupees is here, ten rupees is here. Inside a




campus, yeah okay. At a shop inside a campus. OK. U], 224 o]A, oA o]AZ &A|2. Naoseyo, ©J2
LIA|R, L}RA|R. Uri yeoreobun, happy birthday to them, right? OK. Saengil chukahaeyo. 4], {ZtAIgH|T}}
OK. 4 Hh4 U], okay. O], ] 231318. OK. &, Zo}0l 8, dh4. || So7HA|8. o] of o} FofR, 12210 Y

Adolatx Fotg, ok Fot22 FotQ. 10 ¥ AILoIoJA, siwol saengirieoseo, October. 10 E, 10 2 AFY 10 € AFL.

4 k2. Um okay. o3 Sote. 91613 (Speaking) 1 '

o oA 1 ¥ LteAlR. 19 oAle. 28] ¥ sjg, of 2t |59 9] AlZio] glojar |
OOl |99do] 22 9golofla? -

Zo], 4l o7]. Come closer here. Y, 22|H 3L} & Al
ARt g. shit & A AL sl & Al AR .. of 7). Say it. el pa. 8901 |7}
siLt B A AL “Student A: PFSHA|R. A= SRAICHOR.
Student B: 2+ AFE|}R. Student A: 5E 9 Uoj] A|7to]
91122 Student B: 9 € 9 €o] B2 B2 99l0]o] 22 Student |
A: 28%Yoldla. 22Yo] 1|7} glolQ. Student B: oF, 0kl 229 2o o= ok&o] gloje. F15}1 o]
BEE 2. Student A: oF, WEorR.” ], ZF|8. Oh okay she added it. WFOLR. OK WHOLL. It's okay, it's
okay, it's okay. EotR. Very good. o} AgojQ. 1 T3 |
292888, 2 2L eA|R. 21 2, okay. 2 LERAIR.  ZRHH |69 2090 AlZHo] Qlof Q7 |
69 20% 6%¥ 209290, 6¥€ 200, 12|7 ¥ Yoy Ol |20°E10] L g 0lo]oj g7 -
989 of o] Wee. st & A A, skt & A Az FH
“Student A: FHAIR. A= ZaPERILch. Student B: A=
A2|EILC}. Student B: 6 € 20 Loil A|7H0] 310|182 Student
A: 20 %o B& 2%0Jo2? Student B: EL8Yol8.
Qo] I}E|7} 910} Q7 Student A: of, H|EHL. FQYo] oF&o] glojQ. X5ty ZHo] AW Q. W okay.
AU Y. 23 oA 31 39 LhoAl”. 3 3. “Student A: QHFSHAIR. A& 7F271] Q. Student B: A&
™ Hlojutole]R. Student B: 1€ 17 Lol Aj7ko] ojofl2 Azto]
oapg |«}°§€ ég%pﬂ AlZto] gloja? | 319187 Student A: 11 Fof] F& 200|927 Student B:
OOl | 17¢00] 22 agdolofle? Egdolo]a. £ 2o |7} 3loj2. Student A: o, BIHHL.
e | Eagololg = a gl ute)7} EQYol= oi4o] glojg. A7skn o] EAjl Jie.

Student B: oF.” ], ZgiojQ BF3 ] Ao} Q  okay. THEO

let’s practice. 172 17, AR 17, o 172 AR &,

‘D 10:36%45:50

i d A3 . You remember the first one? 9 ¥ 9 ¥, right? I I,
not Tnot 2,94 9¥ 4 L}AN|Q. 4 ¥ “Student A: QP5HA| 2 #= ofAHA|G Q. Student B: A= 7]&0]0]|2.
Student B: 10 € 13 ¥ 10 ¥ 13 o AJ7t0] 9lo] 22 Student A: 13 €of] & Y022 Student B: 3t Y 3t2Y



&Sk i(Speaking) 1 © stagolo]e. sheo] ate]7t gloj2. Student A: of, IQHR.

Zetd | 109 13900 Akl Qlola? [ sheddols 95ol glole. Aokl 2ol nl84o] 712, Student
OfolA | 13900] & galololla? B: of, .7 i, Aol w4, ) A3t o, ofel of3

ned ARIO12. OK.

A .
OLO| A} |

)= 30
o) 121074550

» ‘~9F/9-" is used to indicate that an action

Now we moveon to the third grammar item,

okay? 5 jl_‘l_ 3 l?']_llﬁ 3 l?']_llﬁ uﬂ.]-l‘l_ EU:‘ 3 H;IRH nuq—,'l_ or an event was COI“pleted. ‘,‘3;)“

HEH. OK what is the title of this grammar item? > ‘-9}/9)-" is added to[verb stems.
o] of7] AEo] Helle, o=2{2? This is a verb,
right? Verb verb, 3t $t, 9 okay %t 1, THA] 9t 9t

o 4% R 14214550

(XL THA AL S, g E
AAAAAAXdE AAA ST A A OK &, Uh we use this ¢ or Y to indicate that an

action or an event was completed. In other words, it indicates the past tense, okay? Past tense past tense
means 2H7]. The past means 24 ZtA 3HA. The past. Tense is AlA. The past tense is ZkA A|A. 2H7 147, okay?

Not the present okay. I} I}A. In the past, in the past, okay. H|9)l. So %t or Y is added to verb stems, verb

stems stem, you remember stem, verb stems, okay? This is important, verb stems, okay, stems, you should
remember this one, okay.

Let's take a look at some examples here, okay? So you remember this one? This is kind of you know,
conjugation category of verbs, right? You remember this? ©F vowel, 2 vowel category in the verb stems,
right? In the verb stems. So | vowel, | 23, + 23 okay, | 2Z, + 232 9loj2? And then we put 3t
okay? ¢t §t §t here uh. OK so 7IT} 7IT} see 7]":} okay. What is the verb stem here? 7} or T} or 7}C}? {71}
right. 7} is the verb stem here. okay, so 7IC} is the basic dictionary form of the verb, right? To go, right? In
English to go. But without .}, if we drop L}, the stem 7} remains, okay? The stem 7} is left here, alright? 7t
7, 7} is a verb stem here. And THLCEH how about BFLITF? What is the verb stem here? Bt or BFL}? BELE. That’s
right. Without T}, without T}, okay. EE}. How about BT}, verb stem? B B B B right? B, okay. 7}, T}, B,
these are all verb stems here, okay. These verbs have | vowel or - vowel. [a] B2, +[o] 2 302,
Foj22910]2 . 9loj2 gloj2 glojQ. OK Qloj 8. 7It}, Bhtct BT} In this case, we can put 9 not §l, okay? Sk,
remember &, okay? 9t St 9t 9F. So 71-8k, 71-9t and then, what is sentence ending, sentence sentence ending
for polite, informal polite speech style? ot 02 3}Q. You remember that? ©}2 018 Q. This is past tense,
right? This is for past tense. This is for the past tense and this one °t2 ©18 8|8 is informal polite ending,
okay? Informal polite speech ending style, right? So in this case we put ©18, 9|2. So 7I9t-0|8, 7I9t-0l_
actually, 7}-Gk-, 7I9t-018,, right? 7}-9t-01 Q. We can combine together, right? If we say this IS}t quickly and



Py { ,;) then it can become Z}. 719t 719t %t 7, right

‘ ~
7]71[:]' -7} +‘/'%l"' = 7}@ g el right okay? So this is, this could be %t. 7ol

DL]'Lht]- =? E_h'} TiS gl/' =2 m okay? U, 719t 719t became %t 7t OK, quickly,
I L%}j - S’_L%ﬁ;ﬁto‘-& = %A[ %ﬁ uh combined together, it became %o]8,

3 @ Zole. Let's go. ZIth-7t2-7f0lQ. You
remember that? 0L, okay? 7Itt-7t2-7}0]Q A]2F {7}t}-7F2-7k0| 2} one more time, A2} {7IT}-712-7}0]Q .}
That's right, very good, very good, very clear. 7}C}-712-7k0] 2, k0|8 is the past tense, okay? Uh went went
somewhere, right? Went, go-went, okay? Went somewhere, Zt0]2. BHjct Fhbch Qhbc) in the case of BT
We put ¢t 9t and the same same, right? BHLE-QF0] Q| right? Tt} _, THytolQ | okay. The final output is
iytole Btole. Levs go. A1% TstolR, 94 o (BslolR ) 3l o, Bigtole. BhichBhte olR A%
(BHLJCL-gH e Bhgola ) BhLICH RLICE okay, to meet. TF 0] A1%, BHLICLARIR Bhslola. ¢ o (Bhic).
hte-Riyfolg v @ Zlo]Q How about boda? EE}, B- B} BTt B B plus 9F, right? B plus ¢, right? And
then B S} became H}, H}-0|2, right? HQo|Q. But B9t B} okay became what? gt 5 8t okay. B} HQt
B, 5 okay? Quickly quickly, if you say quickly, it can become 5|2, B} B okay quickly, you try.
HQI B} B3, okay, 8. So you remember that? HT}-EEQ | okay the present tense Bt and $0]Q gojQ. B}
HQ Ho]Q  okay. T} 20], say it together, HT}-EFR-Bto]Q 3t ¥ ©f {boda-bwayo-bwasseoyo} EC}-EtQ-
goje (Hrh-BlQ Eo]Q 1 OK I will say the dictionary form and you say the conjugated form, okay? 7t}
{7}2-3}018} okay. RHLITE (RhtR-THgtoj e} Hr} (Hte Foje) Xt} {(At_-4toj2} okay At2-FHol2. 2t T}
{2t2-go]Q} ot Oda, the same the same as the boda case, right? 2C}-2t2-%o]Q Qr}-ete-gojg. gt
H o (or}-2F2-gtojQ 1) okay 2T} 2T}, the same case okay. 2L}-2t2-%0]Q. Oda, to come to come. Z30| Q.

This is the first category. OK. . = :
+50It - 5ol 28 %olt
A

second catgor | sfet - Aol 4
casy, right? SITh  Sttf-verb _ _H-_Eﬁi}t]' — _lLaH 3H°'|.9.
category. ST} 3T} 31T}-81 Q. You M

remember 318, right? S|& conjugation okay. SIC} B}t We can see 253ITh &&3ITt-&530]8 okay,
L5OIH-253olQ, 50Tt to exercise, right? 2530/ exercised, okay, past tense +5310]8 2530/,
okay. Actually, what is the verb stem here? 250}, 2503}, right? €505} and then we can put -F & -°9|2
FolQ. OK actually 253t90]8. 0]? 253130l 2. But 3t 1% became 3, Y1, 31 81, FHolQ, okay?
Got it? So that's why we got 310]Q 3H0]Q okay. Now you should remember $10|2. But this is the actual
process. St%CI8 and then it became IR, OK got it? T}E0] 2F3IT-25300/, St ¥ § {2F3}T}-
25o|8} 25025253 ola. AR (E0ITH-250_-2530l8) g ¥ ¢, 232530 8-
£530j2. & ¥ 9 {undonghada-undonghaeyo-undonghaesseoyo.} Y| A3HolQ. Asjct Asirl-As)e-

dgHo| 2 To work, okay work. LoITH-Le1Q-Ugo] Q. OK okay. So k2l5ltt kali5ttt. To sing a song, okay?

And the second category, this is

PR




ool wefstcl- ke e gl U] Wstole. 224 ofujolEsich (of2bjo|Ea)g o Zujo|E 3ol e
3uelc} (Zuolch3goln ) @ Bole, Tola. Sosteh, sichsl, sich-ale.gole. Sola 1R okay,
This one ©F2, otR o}8 okay k0]Q, right? $to]L. OK.

And then the third category Ml — n-] + .Qb —MHolo]lQ
the other vowels okay the ﬁ:} =5 e SRR
BEAJEE — BT + <51 — BFolR

ALEF— ¥ -°*——->M+°*°1.9.—>’§1°1.9.

other vowels in the verb

stems okay. The other
vowels means uh other than

I vowel or — vowel. OK so ©|, 1 vowel, T vowel, | vowel, etc, okay? 1, T, |, etc. Whatever, okay?
Other than | or + vowel. £0t272 MAotQ o2]22 OK the other vowels. Let's see. HT} ML} to eat
something, right? To eat. 8 ™ M, ¥ is the stem here, right? Verb stem, okay. Which vowel, which vowel?
I vowel, | 22 Q0j8, + BZ3l0o]27 {1+ BZ Qo] 1 1 B2 QlojQ? 1 1 BZ? 1 B3 gloj@ Not
ta]. | 2ZQlol8, + B&Qloje. { 22, { vowel okay, thisis 1, not +. 1 1 1 1, ™ ¥ okay. In this case
we put @ %, got it? Y A Y, 018, here. OK so B-018, 1ol 2 okay HOIL, -0} Q, B0l 2 okay. So
you remember this one. ©F2/0|8, right? 0]Q 0]Q-QlojQ . Hr}-Holg HJojQ A2} {meokda-meogeoyo-
meogeosseoyo} 3t H o (HC}-Ho|Q HMejojQ) Brt.HolQ Hjo|Q o Agio]Q. T={H nfA|Tt OfAch (mpAq Q)
LAIC, DhA) BhA) B, right? DhA) BHAI-9), right? hA1-5), oFA] IhA) BHAI-9), right? BHAISIOIR. okay. THAISI-AIS)
AL -AI) AR together quickly Al okay Al A 41 okay 4l. This one so BHi0]8, Al OK, OHiol Q. A2,

Op40] 2 oh4lo| R, okay. OIA|CH-DFA -0 $HH § {masida-masyeoyo-masyeosseoyo.} TFA] A2}, IR}

0} 2-0Ho|Q mh4lo]Q | 0} Ao} Q. OK next one is AT} AL} AL} to write something, to use something,
okay, to write something here, okay. 2T} AT} AT} B X vowel, right? — vowel here, — vowel, okay.
This is — vowel, 2-31 -9}, but in this case in this case, this is a little bit you know irregular version, okay?
Irregular version. But it has a rule here, anyway. 2-Q}, right? #-%] 29} in this case, we drop —(eu) vowel,
okay? Before /1 vowel okay, before } or 1 vowel, we just drop ‘—(eu) vowel’, got it? So we can drop
this — vowel, okay? And then we have this, you know, just this consonant, got it? No no ‘—’ here, right?
OK. And then this consonant and 1 combined. They’re combined they are combined together, okay? And
then we get 0], very good very good, okay. This is a beautiful combination, isn't it? What do you think
uh? Yeah, I think you know this is kind of beauty of language learning, no? 4], of-]2? {4].} 210}gQ. OK
thank you for saying so okay anyway. So ACH-HQ-AojQ ATEHR Ao|Q. OK. No ‘—(eu) vowel’ there,
okay. We droped the eu(—) vowel, okay in sseu, okay. AC--HR-40|Q ¥ o (AT}HQ HojQ: gt H o
(Armeele) AckRgole, (Arlieele) § ¥ o (ACHRHOIR | Okey. T g4, Bt
{Ho]g-Hgjojq ) AgHo]Q. miAJct (b Q-mHio]R ) ATt (MR- Hoj8) Art-HA-H0lQ . How about YT} To
read to read, &It} (RIo1R-9I012 | OK ¥t 9ic} (glola-ggielR} Slole gole okay. o] oF2 Fola,
f2& OK.



These are example sentences. 1A, you know eoje? OJAI7} FoI2 Fo| 27 0JA]|? Yesterday, that's right okay.
oA, yesterday. So it indicates the past tense the past tense, okay. ©JA] ojA| B g#o]2? What did you do
yesterday? oA 5 3o} Q2 djtt-si_-glo] ], djTt-si2-810] 2, okay. | 3ol Q. ofA] F glojg, of2|E? (U1 E
HtolQ.} OK I met my friends. 7S THy5tolQ, okay. THTH-IRIQ-TIytojQ Ago]Q  Next one. L
Zabo]| <Zo]]’ = Hoj2 |22 Over the weekend, right? On the weekend, over the weekend. In this context,
F2o]] means last weekend, okay? Last weekend, okay. Not the upcoming weekend okay? So it indicates
the past tense here. $Z0f| Lo F3}E go]Q. Hr}-HQ Blo|g HC|HIQ Hoje (HT}.EQ Blo|Q } Ao
F3lE BojQ. I watched a movie last weekend, okay. £0t8. FLo| FHof 3o Hglo|_, of=|&? 32
H3lho] Q2 Fo] (o] o] ofc]ofA? ZUoA. Jumare gongwoneseo undonghaesseoyo. 8HH O, {F2L0]
3N esele}  essitt  (esde. | ¢
253018} 1 exercised, I exercised at a park last 0]]) © oAl H Ho1a?
weekend, okay? FHo] JYoNH 2FFolQ. -AFS ARl T

2Egola, o, Fela. 1 tke, oAl oA o] T =%

yesterday OJA, can you read it? TAIE (TRIE} « 3] 39N 253ola

1212 Hgjele. ol TS wlel. Wt is pizza OV HAIE AL

pizza, okay. We say T} T2} okay. Meokda- « A%t 3 E 99lof] TAHOAN W2 gjgloja.

meogeoyo-meogeosseoyo. 3t ¥ O (Hr}-Hojg.

HeJoj} okay. I had pizza yesterday. I ate, eat-ate, okay? The past tense okay. Next one. Can you read it,
this one? {A|¢h F} FotQ. (A F1 A EQ U] 2|ubE: E QYY) AttE means last week. Z|¢HF means
last week. A|'FF EQY last Saturday, last Saturday last Saturday. At EQ U0, 2|3 E QY] oft]ojjA]?
Doseogwaneseo chaegeul ilgeosseoyo. 3t ¥ . Z|th3 E Qo] TAjFoA S Qlloja. § ¥ o, z|t3
E 9U0f TAToflA] S Ql9o]2. OK TATo|A S Ql}lojQ. OK Last Saturday I read a book at a library
okay. ZA oA BZ Qlgloj_. 9lrt-glojQ-Qlgloj’. 8t O {ilda-ilgeoyo-ilgeosseoyo.} 2 ZGH0|_. OK.

Oh let's practice this one again. 2L}. You remember that? Oda conjuration? {2}2} 2}Q otQ, ¢}, <}ele},
Qr}-etQ ($Fo]Q.} Very good. 2T}F-2tR $ko]2 . AJ2t {oda-wayo-wasseoyo} Second one. SFC} ST} SlT} {312-
o]} That's right. si2-30]Q, s1-Foja, ATt AFISITH (AtFel -3l e} o gote. AMRsitt
(A _-AFdgio|f. ) OK 8 ¥ ©f AJ2F {saranghada-saranghaeyo-saranghaesseoyo} haesseoyo, the past
tense, okay? 30| 2, 4| ZAgHo| Q. 7}2X|T} 7F2X|T} to teach to teach, okay? Gareuchida, you remember this
one? 7F2X|c} o] ot /0] /8127 (0|2} 0|8, right? OK 7}2X]- verb stem here. 7t2X|C} 7}2X] okay 72 X]
7}2%] -0|Q, right? Eoyo. And then X]0] together X]] together. That's right. A . Very good. &3lo|Q.
ZFEXCE7E2A 8, A8, A A A okay X|0]. 7t2X R, 72308 7t230]8, 29008, right? X|3}0]R becomes

3018, okay? 7t2A|tH-7t2AH R -7F2H0jR . AlZF {7E2X|Th-7t2 4 _-7t2 0] Q) T A2, (7HEA]ch-7t2 A 8-



7I230]2 .} 7I2F0]Q, AZo|2 . And then HJLT} to learn HIQTH H{QC} (Hi]R-HiO| R} That's right. HY| Hi
{918} OK. 2 Agloja Hi|_-H|Fo|_. OK HjLT} HiL-0|R right? 0]R o]R. 0] 20 20] together, YL,
okay? 90] 29|, 90] 20] became 9, right? ¥ ¥ ¥ ¢, right? ¥, 20] £0/2. OK 0] 9|2 ¢J2, Higla. A]z}
{baewoyo-baewosseoyo} HIHO|L, baeuda-baewoyo-baewosseoyo. OK 210} Q. And this one is another
you know, kind of an irregular version irregular version okay. €t} EF}. To listen to something okay? To
listen to music, 222 EC okay? OK €T} €L}, say it together. €Tt £CF EC okay £CF ECt EC}. In this
case, 0}2/0]2/8127 {0]Q} of2/0|Q /520 B2 gloje @ B2 gloje?gloje Jloje & — — — B2 here,
right? € & €. In this case, we put eoyo eoyo eoyo, right? Eoyo remember, ©.2, eoyo or eosseoyo, right?
0]2-910]Q. The past tense eosseoyo, 9| 2-31018, but here if we have if we have you know ‘a’ or ‘eo’ after
after this £, the T]2( =) T]2(digeut) consonant you know, the final consonant Tt changes into 2, 2]2(2)
2|3 (rieul) ¥4 okay? The final consonant change change happens okay? So instead of we say €°]8, we
should say {£°]8} S°|8 okay. Yeah let’s try £°]8 or £°|2 {E°]8} Which one is more natural you think?
{£°]8} £°]8 or 0|82 5°|8. OK. Which one, which one? Say say it, try {£°]8} €912 £°0|8 {5°]8.}
It sounds very awkward to me. ] £°]8 okay. °]8 5°|2 £°]8. Which one is better? Which one is more
natural? {£°]8} 5|8, okay good good. OK you've got a good sense of you know Korean language, right?
OK so 59/2-5%1912 okay. This uh this consonant this consonant changed into @ 2 2, okay? T|2 T|& we
say C]2 t© consonant okay? We say t changed
changed into 22 2|2 2&(=2) ¥, The final ) * | 2T} — 248 - $HojQ
consonant 2 2|2 the name of this consonant 2| x 5].5]. L 5}1 9. f;ﬂ 01 Q
This is 2] this is 2] this is T|&. OK. T} Z09]
ErF-80l8-390018. AlF {ETh-50l8-89018.}

St ¥ ¢ {deutda-deureoyo-deureosseoyo.} 2%,

AHSIEL - AL}l - AFE}siol 2
Rexf| SHeya stezola

) i 0,0\%
Zglo]Q | Aol And we can say 2248 292 HH o} :iﬁ:;]_g Hﬂﬂoi_&
E0l2 or 3182 (E9lel2 ) E3lI8, Tote.

Eumageul deureosseoyo. 24 —0*01.8 Very
good. o] ZglojQ of=jE OK.

When adding -ayo or -eoyo, both ‘at’ and ‘eot’ take only -eoyo, okay? Not -ayo. So we have only -asseoyo
-eosseoyo -haesseoyo, got it? OK. Let's practice. }0]2/30]2/8101. AJZ} (Qto]Q/joje/3eja ) 3t ¥ o

1gtol2 /5001 8/3012 ) gola/glele 3ol R, OK. golg, glol’ Slol’, okay 018, gtol2 /510l 8 /3012, Now
you have to remember this one. 3t 2/31012/3101Q | okay? %t plus 92, U plus 912, 3l plus 912, okay? Only
012 only °]8. Not °}2, okay? Forget about °F2. 0] 0]2 gtolQ 9lo]Q Ho]_. AJZ} {asseoyo eosseoyo

haesseoyo} jalhaesseoyo. So which one is right? Changmuneul dakkassayo or dakkasseoyo? {dakkasseoyo.}

OK majayo. So we don't use this one. Changmuneul dakkasseoyo. Only eoyo, right? T} Zo] Z-2& §igtojQ,



AIZE FEE Tkl Q. OK We cleaned windows, okay, we cleaned windows, okay, we wiped windows. 4&2&
thooje, A2 Tioto]lQ. £0k2 . And then next one. |30 2/%01L, 0|210]2/F0]Q. We have you know this
one. This one is used for the past tense of ieyo/yeyo. You remember ieyo/yeyo, right? OK ©]}018/%0]Q.
Uh those are the past tense forms of ieyo and yeyo, got it? OK. T} 0] 0]3}o] /o] Q. A2} {o]lo]_/F0| .,
olgiol2 /5012, olslole /12, olgielR/glole. | OK olgiolR/siol. 3 o rolgiolagole. olgolR/giole. |
o|oj2/9018, 0|o|2/F0lQ. OK so e Ax 7|ZIFol_. A+ 7|AI%ol_, FO|2? {I was a reporter.} I am
or I was? I was a reporter. I was a reporter or I used to be a reporter, okay? 7|At0] 2. oJA| = second sentence.
% When adding >9%{\i1/°1_9.’,bo’[h ‘-oF-’ and ofAlE  yesterday E8LIY0I8, ofAle
‘-0)-" take ‘-0]Q’. " - UL, - 9ol - 3ol8 2 Yo|olQ, FoJR? Yesterday yesterday, is or

o) FE2 TR AX) - FE2S TN '@ 0)  was {was} was Sunday. That's right.
Yesterday was Sunday. OK €2%0|qlo]8. 7|z}
HEx] 9lojg, QlojQ? {QlojQ.} gloj’. So we put
yeosseoyo °]8. How about Iryoil? ZLY?
"z 9loj2 1y Qloje. € ¥ = HFA here, okay?
2lg, = = = #3] A42Uol9lo|’. So we put
ieosseoyo, ©|31°]8. OK T} Z0], o|glej /308,
olgloj2/3el8. OK 2R ojAl= & 2Uogloje? oA oAls F& 2%0|jelR? oAl: (F8Y}
dUolglole. Fotg, ofAle HeYUollolR. 252 FE 290|082 52 BE 29008 252 (3haY}
3tQYolof| 2. Bot2 . Oneureun Hwayoirieyo. Tuesday 224002 . o] 12|H and then tomorrow. Naeireun
museun yoirieyo? {$8%} $£2%0]|02. €Y 32U £2Y. oAl E2YUolqlojQ. TIA| THA] A2, ojAl=
dagollole. 252 3tadoldfR. stadolda. YL (Fa%olda.} S0, 2, Hjloje, Hjloa.

You remember? € 8t 4+ 2 F E L o T A2 (E 31 £ B 2 E A 2 AfojQ.

> ‘0|3101.8 /91918 is used for the past
‘olofj g /df|8’.

) « 71315801 8.
* oAl dageisiol.

o) 4501/4550

4l 252 o2}, of7|71x] A18. OK? 4|, ot ? That's
all for today. I can't hear you. ¢t £218, 2|2, ¢t 52 |
ot S28. Say it, say it. 23}, H3lo] o], o} Zro] uby,
Y 252 9A7|M ohEAl’, o2&, £2] Thank you
‘ZARRILITE QIAISER OFAH . Let's go. 922 {ZFARRILITE}
Qhgs] 7HA1R. {Qhgs] AMIL.} ||, iR,




